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What is the purpose of the statement of

cash flows ?

(A) To report the financial position of a
company at a specific point in time.

(B) To present information about a
company’s cash flows during a
specific period.

(C) To provide details about a
company’s revenues and cXpensces
during a specific period.

(D) To show changes in the company’s

equity accounts over a period of

time.

Which of the following is an example of
a non-current liability ?

(A) Accounts payable

(B) Salaries payable

(C) Long-term debt

(D) Prepaid expenses

Which financial statement reports the
financial position of a company at a
specific point in time ?

(A) Income statement

(B) Statement of cash flows

(C) Balance sheet

(D) Statement of retained earnings

BCA-204(N)

(3)

Financial accounting focuses on :

(A) Internal decision-making
(B) External reporting to stakeholders
(C) Cost analysis for management

(D) Budgeting and forecasting

The primary objective of financial

accounting is to :

(A) Maximize profits for the company

(B) Provide information for internal
decision-making

(C) Facilitate the efficient allocation of
resources

(D) Provide accurate and reliable

financial information to external

users

Management  accounting  primarily

involves :

(A) Preparing financial statements

(B) Reporting to external stakeholders
(C) Analyzing financial data for
internal decision-making

(D) Auditing financial records

Cost of goods sold is an example of a :
(A) Variable cost

(B) Fixed cost

(C) Mixed cost

(D) Step cost
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10.

11.

BCA-204(N)

Which of the following is a financial

ratio used to assess a company’s
liquidity ?

(A) Return on Investment (ROI)

(B) Current ratio

(C) Price-earnings ratio (P/E ratio)

(D) Debt-to-equity ratio

The process of allocating the cost of an
intangible asset over its useful life is
known as :

(A) Depreciation

(B) Amortization

(C) Depetion

(D) Impairment

Financial accounting primarily deals with
the :

(A) Preparation of budgets and

forecasts
(B) Analysis of cost behavior

(C) Reporting of financial information

to external stakeholders

(D) Evaluation of investment

opportunities

Which of the following is within the
scope of financial accounting ?

(A) Internal management reporting

(B) Tax planning and compliance

(C) Cost analysis for decision-making

(D) Preparation of financial statements

(4)

12.

13.

14.

15.

The scope of financial accounting

includes the recording and reporting of :

(A) Non-financial information such as
customer satisfaction ratings

(B) Future projections and forecasts

(C) Historical financial transactions
and events

(D) Non-monetary assets such as
human resources

Financial accounting  focuses on

providing information to :

(A) Shareholders and investors

(B) Internal managers and employees
(C) Suppliers and vendors

(D) Comepetitors and industry analysts

Which of the following is considered an
integral part of financial accounting ?

(A) Management decision-making

(B) Budgeting and forecasting

(C) Risk assessment and management
with
standards and regulations

(D) Compliance accounting

Which organization is responsible for
formulating and issuing Accounting
Standards in India ?

(A) Institute of Chartered Accountants

of India (ICAI)
(B) Securities and Exchange Board of
India (SEBI)
(C) Reserve Bank of India (RBI)
(D) Ministry of Corporate Affairs
(MCA)
Set-A



16.

17.

18.

Which accounting standard in India

governs the treatment of revenue
recognition ?

(A)
(B)

(©)

AS 6 - Depreciation Accounting
AS 9 - Revenue Recognition

AS 10 - Accounting for Fixed
Assets

(D) AS 16 - Borrowing Costs

Accounting Standards in India are
primarily based on which international

accounting framework ?

(A) International Financial Reporting
Standards (IFRS)

(B) Generally Accepted Accounting
Principles (GAAP)

(C) Indian Accounting Standards (Ind
AS)

(D) International Public Sector

Accounting Standards (IPSAS)

Which accounting standard in India deals

with the presentation of financial

statements ?

(A) AS 1 - Disclosure of Accounting
Policies

(B) AS 3 - Cash Flow Statements

©

(D)

AS 17 - Segment Reporting
AS 18 - Related Party Disclosures

BCA-204(N)
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19.

20.

21.

Which regulatory body in India has the
authority to modify or adopt accounting

standards issued by ICAI ?

(A) Ministry of Corporate Affairs
(MCA)

(B) Reserve Bank of India (RBI)

(C) Securities and Exchange Board of
India (SEBI)

(D) National  Financial ~ Reporting
Authority (NFRA)

Which of the following tasks can be
automated using computer applications
in financial accounting ?

(A) Interpreting financial statements
(B) Decision-making for management
(C) Preparation of tax returns

(D) Monitoring cash flows and budgets

Which of the following is a key benefit

of using computer applications in

financial accounting ?

(A) Reduction in the need for financial

statements

(B) Elimination of the need for external
audits

(C) Increased speed and accuracy of
financial calculations

(D) Decreased reliance on accounting

principles and standards
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22.

23.

24,

The use of computerized accounting

software allows for :

(A) Manual recording and processing
of financial transactions

(B) Real-time access to financial
information

(C) Limited storage capacity for
financial data

(D) Inflexibility in generating financial
reports

Which ~ computer  application is

commonly used to record and process

financial transactions in an organization ?
(A)
(B)
©
(D)

Word processing software
Spreadsheet software
Presentation software

Accounting software

How can computer applications enhance
data security in financial accounting ?

(A)

By eliminating the need for backup

procedures

(B) By allowing access to financial
data from any location

(C) By implementing encryption and
password protection

(D) By reducing the need for user

authentication

BCA-204(N)
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25.

26.

217.

Which of the following statements about

a journal is correct ?

(A) It records only debit entries.

(B) It summarizes all financial
transactions of a specific account.

(C) It is used to post closing entries at
the end of an accounting period.

(D) It provides a chronological record

of all financial transactions.

The process of transferring journal
entries to the respective accounts in the
ledger is known as :

(A)
(B)
(©)
(D)

Posting
Balancing
Journalizing

Adjusting

Which of the following statements about

a ledger is true ?

(A) It is also known as the book of
original entry.

(B) It is used to record only the
summary totals of financial
transactions.

(C) It provides a chronological record
of financial transactions.

(D) It contains separate accounts for

each category of assets, liabilities,

equity, revenue, and expenses.

Set-A



28.

29.

30.

Which type of account is typically found
in the general ledger ?

(A)
(B)
©
(D)

Sales account
Cash account
Purchase account

Retained earnings account

In a ledger, debits and credits are
recorded on which sides of the account,
respectively ?

(A) Debits on the left, credits on the

right

(B) Debits on the right, credits on the
left

(C) Debits on the top, credits on the
bottom

(D) Debits on the bottom, credits on the

top

A trial balance is prepared to :

(A) Determine the net income or loss
of a business

(B) Verify the accuracy of the
accounting records

(C) Calculate the tax liability of a
company

(D) Determine the financial position of

a company

BCA-204(N)
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31.

32.

The primary purpose of a trial balance is

to :

(A) Identify errors and correct them
before financial statements are
prepared

(B) Determine the closing entries
required at the end of an
accounting period

(C) Calculate the balance of retained
earnings

(D) Determine the net profit or loss for

the period

Which of the following statements about

a trial balance is true ?

(A) A trial balance ensures that all

accounts  have been closed
properly.

(B) A trial balance guarantees that
financial statements will be error-
free.

(C) A trial balance ensures that debits
equal credits in the ledger
accounts.

(D) A trial balance is prepared at the

end of the accounting period.
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33.

34.

35.

If a trial balance doesn’t balance, it

indicates that :

(A) There are no errors in the
accounting records.

(B) There may be errors in the
accounting records.

(C) The financial statements cannot be
prepared.

(D) The trial balance is not necessary

for small businesses.

Which of the following errors will cause

a trial balance to be imbalanced ?

(A) Omission of a transaction from the
journal and ledger

(B) Recording a transaction in the
wrong account

(C) Incorrectly totaling the debits and
credits of an account

(D) All of the above

The Profit and Loss Account is prepared

to determine :

(A) The net worth of the business

(B) The financial position of the
business

(C) The profitability of the business for
a specific period

(D) The liquidity of the business

BCA-204(N)
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36.

37.

38.

39.

Which of the following items would
typically be included in the expenses
section of a Profit and Loss Account ?

(A)
(B)
(©)
(D)

Accounts receivable
Sales revenue
Rent expense

Share capital

Gross profit is calculated as :
(A) Total revenue minus total expenses

(B)

Net profit plus operating expenses

(C) Sales revenue minus cost of goods
sold
(D) Total assets minus total liabilities

Which of the following is true regarding

the format of a Profit and Loss Account ?
(A)
(B)

Expenses are listed before revenues

Revenues are listed before
expenses

Assets are listed before liabilities

(©)
(D)

Liabilities are listed before assets

Which financial statement is commonly
prepared first, before the Profit and Loss
Account ?

(A) Balance Sheet

(B) Cash Flow Statement

(©)
(D) Trial Balance

Statement of Retained Earnings
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40.

41.

42.

The Balance Sheet provides information

about :

(A) Revenues and expenses of a

business

(B) Cash inflows and outflows of a
business

(C) The financial position of a business
at a specific point in time

(D) The profitability of a business for a

specific period

Which of the following is a liability that
is typically included in the Balance
Sheet ?

(A) Accounts receivable

(B) Prepaid expenses

(C) Long-term loans

(D)

Inventory

The formula for calculating total assets in

a Balance Sheet is :

(A) Total assets = Total liabilities —
Owner’s equity

(B) Total assets = Current assets —
Current liabilities

(C) Total assets = Owner’s equity +
Total liabilities

(D) Total assets = Total liabilities +

Owner’s equity

BCA-204(N)
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43.

44,

45.

46.

47.

Which of the following is true regarding
the format of a Balance Sheet ?

(A)
(B)
(®)

Liabilities are listed before assets.
Assets are listed before liabilities.
Current assets are listed before
non-current assets.

(D) Non-current liabilities are listed

before current liabilities.

Which financial statement is commonly
prepared first, before the Balance Sheet ?
(A)
(B)
(®
(D)

The
company’s :
(A)
(B)
(©)
(D)
The debt-to-equity ratio measures :
(A)
(B)
(©)
(D)

The inventory turnover ratio is used to

Income Statement

Cash Flow Statement
Statement of Retained Earnings
Trial Balance

quick ratio is a measure of a

Liquidity
Profitability
Efficiency
Solvency

The profitability of a company
The liquidity of a company
The solvency of a company
The efficiency of a company

assess a company’s :
(A)
(B)
(©)
(D)

Profitability
Liquidity
Efficiency

Solvency
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48.

49.

50.

Fund flow analysis is used to analyze

the :

(A) Profitability of a company

(B) Liquidity position of a company
(C) Sources and uses of funds over a

period of time

(D) Debt structure of a company

A positive net increase in working capital

indicates that :

(A) The company’s liquidity has
improved

(B) The company’s profitability has
improved

(C) The company’s debt has increased

(D) The company’s cash flow has

decreased

In fund flow analysis, sources of funds

include :

(A) Payment of dividends
(B) Increase in long-term debt
(C) Purchase of fixed assets

(D)

Increase in accounts payable

BCA-204(N)
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51.

52.

53.

The primary objective of fund flow

analysis is to :

(A) Determine the profitability of a

company
(B) Assess the solvency of a company
(C) Identify  the  sources and
applications of funds
(D) Evaluate the efficiency of a

company’s operations

In a Fund Flow Statement, a positive

value in the “Sources of Funds” section

indicates :

(A) Cash inflow from financing
activities

(B) Cash outflow from operating
activities

(C) Cash inflow from investing
activities

(D) Cash inflow from operating
activities

Which of the following items is

considered a use of funds in a Fund Flow

Statement ?

(A) Proceeds from the sale of fixed

assets

(B) Increase in accounts payable

(C) Payment of dividends to
shareholders

(D) Decrease in long-term debt
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54. Cash flow from operating activities
includes :
(A) Cash inflows from the sale of
investments
(B) Cash inflows from borrowing
(C) Cash inflows from the sale of fixed
assets
(D) Cash inflows from sales revenue
55. Which of the following items is
considered a financing cash flow in the
Cash Flow Statement ?
(A) Cash inflows from the sale of
investments
(B) Cash inflows from the issuance of
common stock
(C) Cash inflows from the purchase of
inventory
(D) Cash inflows from the sale of fixed
assets
56. The Cash Flow Statement is prepared to
provide information about :
(A) The profitability of a company
(B) The liquidity of a company
(C) The financial position of a
company
(D) The sources and uses of cash by a
company
BCA-204(N)
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57.

58.

59.

Cash flow from operating activities
includes :

(A) Cash inflows from the sale of long-
term investments

(B) Cash inflows from the issuance of
common stock

(C) Cash inflows from the sale of
inventory

(D)

Cash inflows from the repayment
of long-term debt

Which of
considered a financing cash flow in the

the following items is

Cash Flow Statement ?
(A) Cash inflows from the purchase of
property, plant, and equipment

(B) Cash inflows from the issuance of
bonds payable

(C) Cash inflows from the payment of
dividends

Cash inflows from the sale of

(D)

marketable securities

Break-even analysis is a tool used to
determine :
(A) The point where a business starts

making a profit

(B) The total revenue generated by a
business

(C) The optimal pricing strategy for a
product or service

(D) The fixed costs incurred by a

business
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60.

61.

62.

The break-even point is calculated by

dividing :

(A) Fixed costs by variable costs per
unit

(B) Fixed costs by total revenue

(C) \Variable costs per unit by total
revenue

(D) Total revenue by total costs

The margin of safety in break-even
analysis represents :
(A) The excess of sales revenue over

the break-even point

(B) The difference between fixed costs
and variable costs

(C) The profit generated by the
business

(D) The level of sales necessary to
cover all costs

The primary goal of financial

management in a business is to :

(A) Maximize shareholder wealth
(B) Maximize revenue generation
(C) Minimize expenses

(D) Minimize risk

BCA-204(N)
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63.

64.

65.

The process of assessing and managing
the financial risks faced by a company is
known as :

(A) Financial analysis

(B) Financial forecasting

(©)

(D) Risk management

Financial planning

The term “working capital” refers to :

(A) The funds invested in long-term
assets

(B) The difference between current
assets and current liabilities

(C) The funds borrowed from financial
institutions

(D) The profits generated by a
company

The cost of capital is the :

(A) interest rate on a loan obtained by a
company

(B) Total expenses incurred by a
company

(C) Rate of return required by investors
to invest in a company

(D) Total market value of a company’s

shares

Set-A



66.

67.

68.

69.

Financial leverage refers to a

company’s :

(A) Ability to generate profits from its
operations

(B) Ability to borrow funds at a low
interest rate

(C) Use of debt
operations and investments

(D) Ability to meet

obligations

to finance its

its short-term

Which of the following is an example of

an external source of long-term finance ?

(A) Retained earnings
(B) Trade credit

(C) Venture capital
(D) Bank overdraft

Bonds and debentures are examples of :
(A) Equity financing

(B) Short-term loans

(C) Trade credit

(D) Debt financing

Which of the following is a characteristic

of long-term loans ?

(A) Repayment within one year

(B) Higher interest rates compared to
short-term loans

(C) Flexibility in repayment terms

(D) Typically secured by short-term

assets

BCA-204(N)
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The capital structure decision involves

determining :

(A) The amount of working capital
needed by a company

(B) The optimal level of debt a
company should have

(C) The number of shareholders in a
company

(D) The

pricing strategy for a

company’s products or services

The term “leverage’ in capital structure

refers to :

(A) The ability of a company to meet
its short-term obligations

(B) The use of debt financing by a
company

(C) The ability of a company to
generate profits from its

operations

(D) The profitability of a company’s

investments

Set-A



72,

73.

74,

The term “capital structure’ refers to :

(A) The total

company

assets owned by a
(B) The mix of debt and equity
financing used by a company

(C) The profitability of a company’s
operations

(D) The ability of a company to

generate cash flows

Which of the following is an example of
an implicit cost ?

(A)
(B)
©
(D)

Rent paid for office space

Wages paid to employees

Interest paid on a bank loan
Foregone salary when starting your

own business

The difference between explicit and

implicit costs is that :

(A) Explicit costs are incurred by all
businesses, while implicit costs are
specific to certain industries

costs

(B) Explicit are  monetary
expenses, while implicit costs are
non-monetary opportunity costs

©

Explicit costs are
established

incurred by

businesses,  while

implicit costs are incurred by
startups

(D)

Explicit costs are tax-deductible,

while implicit costs are not

BCA-204(N)
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75.

76.

77.

The cost of debt is typically measured
using :

(A) Weighted Average Cost of Capital

(WACC)
(B) Dividend Discount Model (DDM)
(C) Capital Asset Pricing Model
(CAPM)
(D) Yield to Maturity (YTM)

The cost of equity is generally estimated

using :

(A) Net Present Value (NPV)
calculation

(B) Cost of Debt divided by Equity
Multiplier

(C) Dividend Growth Model (DGM)

(D) Internal Rate of Return (IRR)
analysis

The Weighted Average Cost of Capital
(WACC) is computed as the weighted

average of the :

(A) Cost of equity and cost of debt

(B) Cost of equity and cost of retained
earnings

(C) Cost of equity, cost of debt, and
cost of preferred stock

(D) Cost of equity, cost of debt, cost of

preferred stock, and cost of internal

equity

Set-A



78. The cost of debt is typically calculated
as:
(A) The interest rate on the most recent
loan obtained by the company
(B) The weighted average interest rate
of all outstanding debt
(C) The coupon rate of a company’s
bonds
(D) The current market value of the
company’s debt
79.  Which of the following factors affects
the cost of debt ?
(A) The company’s credit rating
(B) The maturity date of the debt
(C) The company’s industry sector
(D) The dividend payments made by
the company
80. The cost of debt is typically expressed
as:
(A) A percentage of the company’s
total assets
(B) A percentage of the company’s
total revenue
(C) A percentage of the company’s net
income
(D) A percentage above the risk-free
rate
BCA-204(N)
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81.

82.

83.

Which of the following is considered a

current liability in working capital

management ?

(A) Long-term debt
(B) Accounts payable
(©)

Property, plant, and equipment

(D) Retained earnings

An increase in working capital can be
achieved by :

(A) Increasing accounts payable
(B) Decreasing accounts receivable
(©)

Decreasing inventory levels

(D) Decreasing short-term borrowing

The cash conversion cycle measures :
(A) The time it takes to collect

accounts receivable

(B) The time it takes to pay accounts
payable

(C) The time it takes to convert
inventory into cash

(D) All of the above

Set-A



84.

85.

86.

Working capital management aims

to:

(A) Minimize profitability

(B)

Maximize long-term debt

Minimize cash flow

(©)

the balance between

(D) Optimize

liquidity and profitability

Working capital is defined as :

(A) The total assets of a company

(B)

The total liabilities of a company

The difference between current

©)
assets and current liabilities
(D)

The amount of cash held by a

company

Liquidity refers to a company’s ability

to:

(A)

Generate profits from its operations
(B) Meet its short-term obligations
Maximize shareholder wealth

(©)
(D)

Minimize expenses

BCA-204(N)
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87.

88.

89.

Which of the following ratios is used to
measure a company’s liquidity ?

(A)
(B)
(©)
(D)

Return on Equity (ROE)
Current Ratio
Gross Profit Margin

Debt-to-Equity Ratio

Profitability refers to a company’s ability

to:

(A) Generate revenue from its

operations
(B)
©)
(D)

Meet its long-term obligations
Maximize shareholder wealth
Minimize risk

The Net Profit Margin is calculated

as:

(A) Net Profit divided by Total
Revenue

(B) Gross Profit divided by Total
Revenue

(C) Net Profit divided by Total Assets

(D) Gross Profit divided by Total

Equity

Set-A



90.

91.

92.

The relationship between liquidity and

profitability is :

(A) Inverse, meaning that higher
liquidity leads to lower profitability

(B) Direct, meaning that higher
liquidity leads to higher
profitability

(C) Unrelated, as they are independent
of each other

(D) Cyclical, with Iliquidity and

profitability fluctuating together

Which of the following is a cash

management technique used to accelerate

cash inflows ?
(A)
(B)

Delaying payments to suppliers

Offering cash  discounts to

customers
©
(D)

Increasing accounts payable

Decreasing accounts receivable

turnover

The objective of cash management is to

maintain a balance between :
(A)
(B)
©
(D)

Cash inflows and outflows
Liquidity and profitability
Cash and non-cash assets
and

Short-term long-term

investments

BCA-204(N)
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93.

94.

95.

Cash forecasting is a tool used in cash

management to :

(A) Determine the optimal level of cash

to hold

(B) Identify potential cash inflows and
outflows

(C) Assess the profitability of cash
investments

(D) Minimize the risk of cash shortages

A cash budget is a financial plan that

outlines :

(A) The company’s overall financial

performance

(B) The company’s investment
portfolio

(C) The company’s cash inflows and
outflows over a specific period

(D) The company’s capital structure

Economic Order Quantity (EOQ) is a

model used in inventory management to

determine :

(A) The optimal reorder point for
inventory

(B) The minimum level of safety stock
required

(C) The optimal order quantity that
minimizes total inventory costs

(D) The maximum level of stock that

can be stored in a warehouse

Set-A



96.

97.

98.

ABC analysis categorizes inventory

items based on :
(A)
(B)
©)
(D)

Their sales volume
Their unit cost
Their lead time
Their

inventory value

contribution to  total

The purpose of safety stock in inventory

management is to :

(A) Ensure sufficient stock is available
during peak demand periods

(B) Minimize the risk of stockouts due
to unexpected fluctuations in
demand or supply

(C) Reduce the carrying costs
associated with excess inventory

(D) Maximize the utilization of

warehouse Space

A company uses the average collection

period to evaluate its receivable
management. Which of the following
formule correctly calculates the average

collection period ?

(A) 365 days divided by the accounts
receivable turnover ratio

(B) Accounts receivable turnover ratio
divided by 365 days

(C) Accounts receivable turnover ratio
multiplied by 365 days

(D) Accounts receivable multiplied by

365 days

BCA-204(N)
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99.

100.

The credit policy of a company outlines :

(A) The procedure for collecting

accounts payable

(B) The procedure for assessing credit
worthiness of potential customers

(C) The procedure for handling
inventory management

(D) The procedure for monitoring cash

flow

The primary objective of a conservative

working capital policy is to :

(A) Maximize profitability by

minimizing cash conversion cycle

Minimize the risk of

(B) liquidity
shortages by maintaining high

levels of current assets

(C) Minimize costs

borrowing by

relying on long-term financing

sources
(D) Maximize the return on investment

by optimizing the utilization of

working capital

Set-A
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the correct
answer and mark the same in the OMR
Answer-Sheet as per the direction :

Example :

Question :

QL D @ © ©
2 A ® @ ©®
W3 »® @ © ©®

Illegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
el SR Bicd 2| IR B OMR J=R-3e d
TR go AT H 9 YR WA
ISR
T9q
w1 @ © ©
w2 A ® ©
s D @ © O
TSI TR AT W SR ST BIeT AT 98l 11
2, T el | 3T W a7 T, S R R
feam S |

5. TP U b P TEE 2| MUB oA IR
e B, S @ IER 3@ UM fhd SR |

6. T SR Dad 3l TA. IR, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B M forem & qd I A T Wi e &
AAUYaS ug forrm S |

8. WeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUc&l &R & dIg
B e FeT 9 WRIE B} | uenefi e ey
TE-QRAHT o S e ¢ |

9. fanfeq afeT 78 2|

10.  ®Ig 9 % BR, YF-YRADI & 3 H, b-Dr
@ forv Ru @rell o W & favar o =nfey |

11, UE-%e H§ dN-ga, deldeicy, Yok a2l Heger
B of WHT dAT SHBT STIN BT gfoid g |

12. 9 & B U9 S WURRY § A=1ar 89 &
T H U T S HUFROT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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